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1. 𝒎𝑵𝒂𝑶𝑯 = 𝒏𝑵𝒂𝑶𝑯𝑴𝑵𝒂𝑶𝑯 = 𝒏𝑵𝒂𝑶𝑯(𝑴𝑵𝒂 +𝑴𝑶 +𝑴𝑯) 
⇒ 𝒎𝑵𝒂𝑶𝑯 = 𝟔, 𝟎. 𝟏𝟎%𝟐 × (𝟐𝟑, 𝟎 + 𝟏𝟔, 𝟎 + 𝟏, 𝟎𝟎) = 𝟐, 𝟒	𝒈 
𝑽𝒆𝒂𝒖 = 𝝆𝒎𝑯𝟐𝑶 = 𝝆𝒏𝑯𝟐𝑶𝑴𝑯𝟐𝑶 = 𝝆𝒏𝑯𝟐𝑶(𝟐𝑴𝑯 +𝑴𝑶) 
⇒ 𝑽𝒆𝒂𝒖 = 𝟏, 𝟎 × 𝟕 × (𝟐 × 𝟏, 𝟎𝟎 + 𝟏𝟔, 𝟎) = 𝟏𝟐𝟔	𝒎𝑳 
Rq : On ne respecte pas le nb de CS ici. 
𝒎𝑪𝟔𝑯𝟏𝟐𝑶𝟔 = 𝒏𝑪𝟔𝑯𝟏𝟐𝑶𝟔𝑴𝑪𝟔𝑯𝟏𝟐𝑶𝟔 = 𝒏𝑪𝟔𝑯𝟏𝟐𝑶𝟔(𝟔𝑴𝑪 + 𝟏𝟐𝑴𝑯 + 𝟔𝑴𝑶) 
⇒ 𝒎𝑯𝟐𝑶 = 𝟏, 𝟔. 𝟏𝟎%𝟐 × (𝟔 × 𝟏𝟐, 𝟎 + 𝟏𝟐 × 𝟏, 𝟎𝟎 + 𝟔 × 𝟏𝟔, 𝟎) = 𝟐, 𝟗	𝒈 

2. 𝒕𝒎𝟏 =
𝒎𝑵𝒂𝑶𝑯
𝑽𝒑𝒐𝒕𝒊𝒐𝒏

= 𝟐,𝟒
𝟏𝟐𝟔.𝟏𝟎-𝟑

= 𝟏𝟗	𝒈. 𝑳%𝟏 

𝒕𝒎𝟐 =
𝒎𝑪𝟔𝑯𝟏𝟐𝑶𝟔
𝑽𝒑𝒐𝒕𝒊𝒐𝒏

=
𝟐, 𝟗

𝟏𝟐𝟔. 𝟏𝟎%𝟑
= 𝟐𝟑	𝒈. 𝑳%𝟏 

3. 𝑪𝟏 =
𝒕𝒎𝟏

𝑴𝑵𝒂𝑶𝑯
= 𝟏𝟗

𝟒𝟎
= 𝟎, 𝟒𝟖	𝒎𝒐𝒍. 𝑳%𝟏 

𝑪𝟐 =
𝒕𝒎𝟐

𝑴𝑪𝟔𝑯𝟏𝟐𝑶𝟔
=

𝟐𝟑
𝟏𝟖𝟎

= 𝟎, 𝟏𝟑	𝒎𝒐𝒍. 𝑳%𝟏 

 
 


